2023F8A26H () 2MEIFLIRSE 2R

R s AES - 550, 220, 140, 83, 5555 m’ °
5 s F-PN = 1:50. 8 ‘ ) BFISEBMAS (534 5 544 2 425 1 435 1 ’ }
YSR2E KA (RS [EE] & 1:52.5 L—R5y F{fF MMM 5 SSH 2 HMM 1 HMS 1 Grant /
MR | PREK | EETES T i 35 E AR B) Bt HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
B F | ML (B 255128 |2 1800m 2, 3, AABEBIEE S5{TE=IEA- 10— - BiFRE 244 EAYBF
B 26 | B & |ENEE/FE|f  4ELUT | B 2 1400m #%3F (HE L. MEH. S)EL‘) BIEH 3 Fuh EBERE 29-M~4F - 3H~4F - %3F(5~1) LY 3 FIRER
EIEIE ARGRES WE | £ M | ZI800BE (B EE  |mmE 60| L—REYSFAAL - UBEOLYSFIAL > 0.5 OBERF HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE BAoX| B & | 7-9RABM| & BEFR| &3 s00m B WAE 33ERT 4R SR
I7A4=—FlL 42 gggﬁsﬂ é) ‘:‘5:2 15:2 #Z0.1.00 | F/V0.1.0.0 2¥3_07. 23 47 T TALw2
[N BB | 5 450- B2 0.0.0.0 [ FP90.0.0.0
P e 55.0 .199| F 55-55 | 4820000 [ F/50000 | 2 63 1% 5A B/A
T[T a|Fa—THHzr B | kEx | ALB 1514Q@ | £ 0.0.0.0 | =F0.0.0.0 | 452 %) &&EE 5 DOD
(Fa—F1Uk9 1) 2 .166| LB 1514 | = 0.0.0.0 | ==0.0.0.0 | 1800m #A B 1:51.4 35.5
SRS H5 (FERET) [%]] 0.1.0.0 [%0.1.00 |£%01.00]| ----@---[MM 37.8-35.2 533 (4
ERFER 29075 3150320580 | £470.0.0.0 | @48 000 0| AFLVK v92(0.3) %3k
E—F/\Fa—L H2 [ 44 B A: ;. |AZ01.00 |F/N021.0 230812 40 WM 24LHRT | 23.07.15 39 MMM 2EAE5 | 23.07.02 47 T 2EmAe2
SATE—EVY JEUAT B 444-444 | EZ0.1.1.0 | F0.0.0.0 | KRESF| SR F| HE
2 - 55.0 .355| Fr 55-55 #20.0.00 [ F50.000 | 2 958 8% 2A As [ 3 958 6F 1A 2 5 3% 5A
2| | Lrusozr RBE | B #LB 1506@ | $Z£0.0.0.0 | =F 0.0.0.0 [ 444 0 H)IEH 55 @O@| 444 0 FHE 55 DDO | 444 #) HE 55 BBR
(H YR U HFH—2) Zs .128| #LB 1506@ | F 0.0.1.0 | ==10.0.0.0 | 1800m ZA E 1:50.6 36.0 | 1800m B & 1:54.5 37.2 | 1800m A B 1:53.4 35.0
#E77-L(F ) [%1] 0.1.1.0 [£0.21.0 |[2%021.0 | -@---®-@| WS 36.4-36.5 435 (2) | MSS 37.2-37.8 335 (1) | SSH 38.4-35.3 444 (1)
EEES 4305 052220380 | £470.0.0.0 | @158 00 10| 729" (0.0) SefkE |2 -4UTY-00.2) EEE | 9077 5%(0.0) %k
N—EoTv— 32 [ 45 I %i 0.0.0.0 | F/V0.0.0.1 | 23.07.16 43 10 2BNAEG
N Felh RAKE #0.0.0.1 | F080.0.0.0
FUIDRLFAE |50 15 1820000 | FA0000 |6 1438 6% 8A
3| a2l #yzyro—s2 B | %88 #0000 | ZF0.0.00 | 512 4 £4K 53 BDOD
(7—9 74—2R) FEH . 167| B 15220) | Z 0.0.0.0 | ==0.0.0.0 | 1800m =B # 1:52.2 36.6
84 77-L (R FHT) [#]] 0001 [£0001 |£%0001 | -----®-|[MM 36.6-3.2 353 (6
(#) GIL-yvy" 05020380 | £40.0.0.0 | 58 0000 | -3 yby5-1(1.2)  HEk
AT—TJJFv—F #2 ggﬁﬁ ©: :: : | #M20.1.00 | F/L0.1.0.0 z%%s.m 24L1%2
3 s &— | & 510-510 | B 0.0.0.0 | FF¥0.0.0.0
T4 RUTE=Ib |50 50| 7 5555 | 820000 | F0000 |2 " 108 1% 3A BN
dlo|wrvs—sr—n B | By LB 1531@ | #£ 0000 [ =F00.0.0 |510 4 itk 55 OO
(R4 FTRIL) FH .159| LB 1531 | EZ 0.0.0.0 | ==0.0.0.0 | 1800m A B 1:53.1 34.1
=4 77-h (R FHT) (51| 0000 20100 [2%0100]| -@------ SSM 39.0-34.5 445 (1)
YT -b-h” 0501380 | £470.0.0.0 | 138 0000 | 7-n"»¥95 (0. 0) KER
IEI7RA7 H2 [ 46 A |ALZ 0007 [F/N00T.1 [23.08.12 39 T 2#LBET | 23.07.16 47 MMM 2ERARG
HHY RN EHEA B2 0.0.1.0 | F090.0.0.0 | ]
-~ 55.0 .179 120000 [ 50000 |5 ~ 98 7% 3A s [ 3 1488 8HIIA
5(5| At n—rF7YEn—F B | EBX | AR 15080 | £ 0.0.0.0 | =F 0.0.0.0 | 470 +2 HEE 55 ©BD | 468 %) HHE 55 @@
(N—=Y954) FH . 104| LB 15086) | T 0.0.0.0 | ==10.0.0.0 | 1800m ZA E 1:50.8 36.5 | 1800m B # 1:51.6 36.3
SRS (RSATRT) [%]] 0.0.1.0 [ 0.0.1.1 [ 20011 | -®---®-[MMS 36.4-36.5 544 (5) | MMM 36.6-36.2 454 (2)
i — 1807 | #05:03£0i80 | £40.0.0.0 | &1 0000 | 7299t (0.2) SEEE [ 1951 0.6) k%
AL 1800mFE4E B A A (S 5THIRT : 2021. 08. 24~2023. 08. 23) ERTE BER 3 HE MR
;302 EHESA HERS 17& 2% 3/ &HH BE i *® @ (%& 1 2 3 45 6 7 8
1 FA—=TAURY b 22 4 3 1 14 0.182 0.318 ¥ @6 (3#ME) 29 30 23 24 22 20 22 17
2 KoSAuT 18 4 1 310 0.222 0.278 il
3 o—Fh+A7 14 3 0 0 1 0.214 0.214 7 FESV T/ 2L RAIE
4 —35—vF 15 2 3 0 10 0.133 0.333 B @ W% 36.9M HKIFSEAT (534, 544) 5 sowir
5 N—Eyy— 24 2 2 2 18 0.083 0.167 [ hog: 3.2 M WFHIE L (434, 445) 2 *x
6 RT—FUFr—F 4 2 2 0 0 0. 500 1.000 ) % % 3BIM FLY  (255,355) 2 %x
7 IEIFHRAT 22 2 1 316 0.091 0.136 = B4 L 1:50.0 SBUGAR (335, 245) 1 *
8 FUTAANAN 11 2 1 0 8 0.182 0.273 R
9 TwREYIA 12 1 4 0 7 0.083 0.417 ®
0 E-UR 22 1 2 316 0.045 0.136 5

_ N . " BEEHTO. HEORERZ. HEWE. BFERGE, INTERBERTOHRREBAELTT S,
202348H268 () 2@E4LIRSE 2R 5 R2m KEF GES) [EE] E& 1800m = -4H FENOOEM, EHEELET.



